sﬁéw the prices that producers charge withogt compettzlon._.
/ c. shift right when consumer incomes increase in order
: respond to greater demand. i
.Shift right with better technologies of production.
€. None of the above.

In.the last decade of the twentieth century, the former e
Union and Eastern European countries transited from planned to
market-based €conomies. Reasons why socialism proved
unsustainable for these countries included:

anaging the economic system became too complicated to be
done by one central planner.

b. The system did not provide sufficient incentives for
pProduction and exchange.

C. The system did not allow consumers much sovereignty in
consumption choices, which created social resentment.
(@. All of the above

e. None of the above

Over the past few years, the average price of an apartment Ti .
Lebanon went up significantly. This might be explained by all o
the following EXCEPT: ' L e
The increase in population caused by the Syrian CIrisSis.
The increased preference of Lebanese families to own rather
than rent housing.
The increased supply of home loans that make it easier for
families to borrow.
@The cheaper price of steel and other building materials.

. The increased desire on the part of expatriates to invest

in the country.
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LS pri o) /I1€,
L Oym can be a long-
> Jovernment should 1ift
C. aggregate demand for goods
through fiscal policy. -
recessions would be reversed b
Correcting mechanism.
€. all of the above,

A Keynesian economist’s main proposal for how e
Leyerse economic crisis or recessions was for

a. Firms to invest ip a smaller volume of inventories

h! Consumers to buy more domestic goods and services :

<§;)Governments to increase their expenditure on domestic goods
and services.

d. Private individuals to invest wisely in the stock market in
order

to avoid recurrent stock market crashes
€. All of the above

conomies could

The, terms “expansion” and “contraction” are used by economists to
refer tol the

a \fluctuations observed in the business cycle
) fluctuations observed in the growth cycle

) fluctuations observed in the money §ycle

) fluctuations observed in the inflation cycle
) none of the above

® QO O

3 : S T
‘n day economists agree that the economic functions o ~y
i following i
ernment includes the
go a. Providing public goods such as deﬁensié/;avor o 10 -
b. Some degree of income redistripution Qn@'
. e
advantaged groups |

son : 1 the Tige
- uilibrium al. _
c. Making sure all markets are in eg’“g“externalltles-b/'

d. Correcting for negative and positiV
(gj All of the above

onetary policy?
lowing is considered a type of %i—%;;sz profits.
Which of the fol CWL decides to increase the tax I

i der
| e supply 1n Or :
// e gover:ﬁsnt decides to reduce th? mzziieng; i
] e .
<:E7/The ggveﬁ:n the value of the domestlcC i
g malntal-»ﬂt decides to increase SPe€
rnme decC
c. The gove i, i
infrastructure bkwject:%
. vernment decides to P
d. The governmeit- -
more public SCROOLS
e. All of the above.

ducation by puildi




"NOT be used

expenditure approach?

Domestic goods purchased at
" ¢c. Tuitions paid by households
d. The re-construction by the gov

during a storm. ! o, L R
e. None of the above; they would all be included in !

approach.

argest component of total expenditure in most countries 18

a. Expenditure on foreign goods.

b. Expenditure by the government on goods and services

C;)Expenditures by private c¢itizens on goods and services
. Expenditure by firms on capital goods and other

inyestments ‘
/2; n infrastructure projects.

e. EXpenditure by the government ©

apita GDP is an important indicato® pecause it gives an idea
t the country’s

a. GDP relative to its—GNP
GDP per person.
C. GDRP—in_constant prices. .
-market and domestic production.

d. GDP that also-includes- non

GDP per one dollar of capital investment.

e.
- 2 _
If the Aconomy closes the year with more invenyoryes than it had .
| started with, the proper way to account f£or this in GDP L :
compdtations 1is under C;{ﬁbt> R0 -
a. depreciation./ “+ve_ o '
b. net exports ¥ _ e M :
i 00ds Y st L
c. consumer expendiltures on durable 9 " :

d. government expenditures ¥
@none of the above
i

hodology will be *.
SIS
nat seeks tO

An ecoyomist applying the hormative met

 using an objegtive ype of analy

b. using an approach to economics t
rational behavior. '

understand

lems based on his/her

ch proposing solutions to economic prob
convictions. .
d. more interested in academic than in private sector jobs.
normal or not.

e. determining whether economic outcomes are




 II—Essays/Problems. (2 questions; 40 points)

1. Define opportunity cost and explain the reason it'arlseS-
Using the production possibilities frontier model, dlgcuss tl}e
significance of this concept for the national production choices
of a small low-income country.
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terest income

onsumption expenditure
Dividends

Government purchases of
Indirect taxes

Factor income payments to the rest

goods and services

of the world 18
Corporate profits 70>
Changes in Inventories 20
Sole Proprietor’s Income cao >
Factor income receipts from the rest
of the world 8
Imports of goods and services C 60 )
Rental income - _ .. €358
a) Gross domestic product
b) National income .)" ‘\m‘ M\H)h—ef\tfw
c) Salaries and wages _ -’ 6"3 &-\S
- —
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